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M- B3 S2(3H) - MSAY - B2 0 & 24 pJE-T {imE=Eh

S 928,104 898,104 30,000
= 83,842 83,842 0
= 15,000 15,000 0
Al 121,413 121,413 0
- 707,849 677,849 30,000
SEID FUE EAZE2 =4 500,885 470,885 30,000
= 15,000 15,000 0
Al 82,500 82,500 0
- 403,385 373,385 30,000
ES dEHe =4 153,961 123,961 30,000
sSgE2=s o5 & Fdl 105,219 75,219 30,000
401 AlEHIZ R0 38,040 27,000 11,040
01 Al£HI 38,040 27,000 11,040
O EgZNs PRHYIM X (09F A ArHI)
11,040,000& 14! 11,040 0 11,040
405 AHoHESHI 18,960 0 18,960
01 HARESFSH 18,960 0 18,960
O BFH(2H) #0948 &ALl
975,4543 1104 10,730 0 10,730
© HOoIMZED 7(09E & ALHI)
3,650,000 =1CH 3,650 0 3,650
© AU F(09E &AHHHI)
1,830,000 = 1CH 1,830 0 1,830
O CIXgotnict (09 &AbHI)
500,000 *3CH 1,500 0 1,500
O AL HDH F (09 AAIHHI)
850,000 *1CH 850 0 850
© AE=SI| 7(09E &ALHI)
400,000& = 1CH 400 0 400




